ROTARY BALL SPLINE

Pid : ( ’ N
SPR:: - - Mo B
=il
{f =—HE -
NIRBEISHRY =
A sPr | 25 B2 1 [ 436 fl U L
H,. |
L
AR a
SPRE!
EREEK
R FEES
iia;&:ﬁ;’é
T :®FE
— R B T2: FFE SPR13~60
E RIBEMEARE.
\ )
FERT RRREMABEER 1L RERTEHE RREEREL | BS RE *R5
D1 D2 L Pir| S| h I | H Ds P | d G F |6 Ds BEARFEHE BAREE AR EATERAT |RIFHE| HME W | BEER
NHRES nE 2% [P.CD. 2% (P.CD. nE f B zf B )] 5 R~F
Cr Cor C Co Cr Cor Mo
mm | gm [mm|mm|mm |[mm mm [mm |mm|mm| ym |mm | mm mm mm | ym [N.-m [ N-m kN kN kN kN N:m kg kg/m rpm
SPR 6 20 13 | 25 16 [M2| 25| 5| 6.5 30(0/-21] 24| 24| M3 | 2.6[20° 6 [0/—12 1.5 24| 1.22 228 | 0.6 0.5 51] 004 | 0.21 2940 | 6
SPR 8 22 0| 15| 25 18 [M2.5| 3 6 | 6.5| 33 0 27129| M3 2.6|20° 8 0 2.1 37| 145 2.87 1.2 1.10 74| 0.05 0.38 2,580 | 8
SPR10 27 |—211 19 [ 33| 0 |22 [M3| 4 817 | 40 _25 33|34 M3 | 2.8[20° 10 =15 44 82| 273 507 | 24 2.45 18.0/ 0.09 | 0.60 | 2,060 [10
SPR13 29 24 | 36|—02[ 24 [M3| 5 819 | 50 42(34| M3 | 36/[15° 13 0 21 39.2| 267 489 | 29 3.70 13.7] 017 | 1.0 1,350 |13
SPR16 36 0 31| 50 30 | M4 | 6 10 |11 60 0 50| 45| M3 4.4|15° 16 —18 60 110 6.12 11.2 5.6 6.70 46 0.33 1.5 1,080 [16
SPR20A 44 _5 35 | 63 38| M4[7 [12 13 | 72 —30 62 | 4.5 [M6X0.75] 5.2|15° 20 0 105 194 8.9 16.3 6.55 8.79 110 0.57 | 24 890 [20A
SPR25A 55 2|71 47 |M5| 8 |13 [16 | 82 72| 4.5 [M6X0.75| 6.4]|15° 25 9 189 346 | 12.8 23.4 9.63 | 12.7 171 0.81 3.7 700 |25A
SPR30A 61 0| 47 | 80 0 52 |[M6 |10 [ 17 [17 |100| Of 86| 6.6 [M6X0.75| 6.8]15° 30 307 439 | 18.6 232 | 11.8 17.1 181 1.19 | 5.38 640 [30A
SPR40A 76 |[—30[ 64 [ 100 —03 66 | M6 [10 | 23 [20 |120[—35[104[9 |[M6X0.75 8 |15° 40 0| 674 934 | 30.8 37.5 | 23.0 32.3 358 2.25 | 9.55 510 |40A
SPR50A 92 0/ 80 |125| | 80 | M8 |13 |24 (22 |134| 0[118]|9 [M6X0.75| 8.8|15° 50 —25 /1,290 (2,950 | 403 649 | 27.8 44.0 690 3.57 [15.0 430 [50A
SPR60A 107 |—35| 90 | 140 95 | M8 [13 | 25 [25 |155|—40[137[9 |[M6X0.75]10 |15° 60 |0/—30(1,570 [2,620 | 47.7 79.5 | 29.0 48.8 881 5.03 [21.6 370 |60A
SPR20 40 0/ 34| 600/-02] 34 |M4| 7 |12 [13 | 66 0| 56| 4.5 [M6Xx0.75| 5.2]|15° 18.2 0 83 133 7.84 | 113 5.90 7.35 63 045 [ 2.0 980 |20
SPR25 50|—25| 40 | 70 42 |M5| 8 |13 [16 | 78|—30| 68| 4.5 [M6X0.75| 6.4]| 15° 23 - 162 239 [ 123 16.1 9.11 | 115 104 0.75 | 3.1 770 |25
SPR30 61 0| 47 | 80 0 52 | M6 |10 17 |17 | 100 0| 86| 6.6 [M6x0.75| 6.8|15° 28 289 412 18.6 23.2 11.8 17.1 181 1.25 4.8 640 (30
SPR40 76 |[—30[ 62 [ 100 —03 64 | M6 [10 | 23 [20 |120|—35[104[9 |[M6X0.75 8 |15° 374 0 | 637 882 | 30.8 37.5 | 23.0 32.3 358 230 | 8.6 510 |40
SPR50 88 0l 75 |112| ™| 77 | M8 |13 [24 (22 |130| O0[114[9 [M6X0.75| 8.8 15° 47 —25 11,390 3,180 | 46.1 742 | 27.2 42.1 696 3.10 [13.1 450 [50
SPR60 102 |—35| 90 | 127 90 | M8 |13 25 [25 |[150(—40/132|9 [M6X0.75|{10 |[15° 56.5 |0/—30(2,100 |4,800 58.0 127.4 26.5 42.6 1,300 470 |19 400 [60
KT IR E R AR B hAR AN T IR IE EINBE A, XRBFEBMEREMAIEBERBN. HERERRIDBEENESH, 1kN=102kgf 1N m=0.102kgf - m

B-42 B-43



